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HDCP L E: 40.0 =x: 40.0
HDCPT 5 0.0 %: 0.0
B i1 FHEEES Tk Ay GROSS HDCP NET B 2 FHEEESA TIb 4V GROSS HDCP NET
B B Ba B 43 42 85 14.4 70.6 464 FHith T 43 40 83 8.4 746
EERE NIIX IN\B 42 4] 89 18.0 71.0 ATsL Tk Z—Ef 45 38 83 8.4 746
M XKiFE FE 44 45 89 18.0 1.0 AE A8 ¥E/NER BB F 46 43 89 14.4 74.6
A PAIER ANIE 44 45 89 18.0 71.0 AE 4961 FHix I 42 41 83 8.4 74.6
56 FHE Fif 46 M 87 15.6 1.4 AE 50 FE IER 45 44 89 14.4 74.6 FRE
61 HiF HAR 36 39 75 3.6 1.4 AE 516 Mtk RE 47 47 94 19.2 74.8
M ®E 1Tk 39 35 74 2.4 71.6 BG AE 524 Rk X 39 43 82 1.2 74.8
8 —RHE IEE 43 40 83 10.8 12.2 AE 53 M IEE 46 42 88 13.2 74.8
M H+E BHE 44 45 89 16.8 12.2 AE 544 H Il Bk 43 39 82 7.2 74.8
1042 #E@E 217 43 45 88 15.6 12.4 AE 55 K2 ZEIE 47 46 93 18.0 75.0 RE
6L BRE AR 42 40 82 9.6 12.4 AE 564 /NEFF i 41 46 87 12.0 75.0
1261 Rk FF 44 43 87 14.4 126 AE LT4—R1{L 5741 ikl B 46 40 86 10.8 75.2
136 & & 41 44 85 12.0 713.0 AE 58fiL ;&' —B 43 43 86 10.8 75.2
14460 % BB 45 40 85 12.0 13.0 AE 5061 ElR HE 41 39 80 4.8 75.2 %#HE
156 dFH —X 39 40 79 6.0 713.0 AE 604 =ik 44 42 86 10.8 75.2 R|RE
166 HRE HAF 42 49 91 18.0 13.0 AE LTqa4—R2% 614 A FEIL 47 39 86 10.8 75.2
17650 = BB 48 43 91 18.0 713.0 AE 624 FH FE&E 47 39 86 10.8 75.2
182 TH EE 44 46 90 16.8 13.2 AE 634z = pio) 49 54 103 27.6 15.4
1962 F/iZE 8ShA 37 4 78 4.8 13.2 AE 644 44 Il iET] 42 42 84 8.4 75.6
201 Hi ABAX 40 44 84 10.8 13.2 AE 654 /MR & 42 42 84 8.4 75.6 RE
2161 #E ME 48 47 95 21.6 73.4 664 %£H E— 41 42 83 7.2 75.8
2260 /I R 46 49 95 21.6 713. 4 67461 g EFHF 48 47 95 19.2 75.8
20 RIR #& 47 M 88 14.4 73.6 684 2iE & 40 43 83 7.2 75.8
2451 g A 50 44 94 20.4 73.6 694 KIF 1FER 46 43 89 13.2 75.8
254 PAIER Z=ZF0 43 45 88 14.4 713.6 JRE 1046% Mlidh 3 48 53 101 25.2 75.8 kE
264 PAIER FEH 51 48 99 25.2 73.8 NELERKRK BX 50 50 100 24.0 76.0
27161 B’#EF  #Esh 38 43 81 1.2 73.8 N6 tERK E= 53 47 100 24.0 76.0
281 EEE Ih 44 43 87 13.2 73.8 136 LG R 39 43 82 6.0 76.0
29 HF BE 43 44 87 13.2 73.8 1AL BJII —FEAH 50 44 94 18.0 76.0
304 ELL  NiEtR 45 42 87 13.2 13.8 ®/E 154z BsE Ih 52 48 100 2.0 76.0 ®’RE
3 Erd S 45 36 81 1.2 713.8 HAHHE 1660 BRI R 41 M 82 6.0 76.0
321 =F R 40 4 81 1.2 73.8 116 &% == 44 43 87 10.8 76.2
3 BRIl IESE 42 45 87 13.2 73.8 184 = 50 49 99 22.8 76.2
M My &EX 39 42 81 1.2 73.8 1961 4t —x 49 50 99 22.8 76.2
35 1k ffE— 41 46 87 13.2 713.8 FRE 80 =2 RE 46 46 92 15.6 76.4 RE
Bz RE —X 40 46 86 12.0 74.0 814 AEY 1IEZE 47 50 97 204 76.6
37 WWHE I8 43 43 86 12.0 74.0 8241 FE MF 47 44 91 14.4 76.6 LT4—RX31x
Bz HFH H— 39 41 80 6.0 74.0 83 —PEE HNF 49 48 97 20.4 76.6
L #K  EES 45 4 86 12.0 74.0 84 B FEF 50 47 97 204 76.6
40 #)I B 41 44 85 10.8 74.2 FRE 86 HAO —=% 42 48 90 13.2 76.8 RE
M INBFFE OE 43 42 85 10. 8 74.2 861 FEIR = 49 53 102 25.2 76.8
261 = B 45 40 85 10. 8 74.2 874 AL BEX 46 55 101 24.0 717.0
A6 =45 BhFE 46 45 91 16. 8 74.2 884 IFEH HZ 40 48 88 10.8 77.2
UG =FH Z2E 46 51 97 22.8 74.2 89fI BRIR RB=X 49 45 94 16.8 717.2
45 K B’z 40 44 84 9.6 14.4 RE 904 =@k IBER 46 42 88 10.8 77.2 RE
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BEAE FITLRYT
THHIR - & T )Ls3— (PAR*2)
HDCPE 53 40.0 =: 40.0
HDCPTF 55 0.0 =: 0.0
HDCP NET

g i  sEEs 79t 4y GROSS HDCP NET g 1 sBE% 79k 4 GROSS
916 HHE XFE 95 50 105 27.6 71.4
9261 fRHE ZRiE 48 50 98 20.4 T71.6
93 AH FEMR 47 44 91 13.2 T71.8
91 ZFith = 44 47 91 13.2 71.8
9561 Fith R 44 46 90 12.0 78.0 #RE
96 FEFHE 49 41 90 12.0 78.0
9761 BE IEF 51 50 101 22.8 78.2
98 HH & 54 53 107 28.8 78.2
9961 #EH E— 59 54 113 34.8 78.2
10062 /MxfE BB 47 48 95 16.8 78.2 FRE
10162 £ B 47 4] 94 15.6 78.4
10261 155k S o1 49 100 21.6 78.4
1031 KiFl =5 45 4] 92 13.2 78.8
10461 L BHF 93 45 98 19.2 78.8
105 =1 Bk 46 56 102 22.8 79.2 ®RE
10662 SH o) 42 48 90 10.8 79.2
10761 ki K— 41 49 90 10.8 79.2
10842 {kfkE ERE 44 45 89 9.6 79.4
1092 HE HRE 46 41 817 1.2 79.8
11062 1£7% JE=ER 49 55 104 240 80.0 RE
N BE ES 60 56 116 36.0 80.0
N2 I RS 49 48 97 16.8 80.2
1361 £k XA 48 47 95 14.4 80.6
1AGL g3t J%HE 56 57 113 32.4 80.6
11561 #)Il RF 50 49 99 18.0 81.0 =)
1662 WEA &= 53 b1 104 22.8 81.2
76 G BEKER 53 49 102 20.4 81.6 BB
1186 HH il 60 63 123 40.0 83.0 BM



